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One who frees his slave; — 21972 ¥A 7992 PRI N1MD RIS 1720 IPDRT
He goes out free and does not require a writ of emancipation

OVERVIEW
XMW maintains that if one frees his *1v13 72y (by saying you are free), the slave is
completely free and does not need a MW WY to finalize his emancipation.

mMooIn anticipates the following question:
— 2551 591 2983 1199 812Y 135 1Ay RIVY Y NN HNINIYY 19 DX MYPNY PPN

One cannot ask; if indeed this is so (that W v ¥"RY MY KXY 172V 1°POAN),
then according to ®X1»w why do we need a 1w "ww to free an "1y1> 72y, let the
master say to the *1v15 72V in the presence of two witnesses, ‘go’! —

mooIn proves that this is a valid question:
— 593y 72y %33 (01,10 47) PYITIPT NP P99 19999NX1D

As the X713 states in the first P99 of Pw175P NJon regarding an S92y 72w -
- 41)‘1",72!’ NN )P 199) Y92y TaAYT OND 213 NIVN INMD

And even according to what the X723 answers there in PU7°p that he cannot
merely say, ‘go’, because the n3 of the ¥y belongs to the master, nevertheless
(even if he cannot merely tell him, ‘go’), the master can still free him”® -

mooIn proves his point that 757 is efficient by an ¥"v (and 2"V):
— 12990 N2 19PNNY 2715 939N 999n5w V) 23939 Taya 10989 NN 120N

For even the one who requires a "2 wx by an 2"y (and "p57 alone is

insufficient), that is in order to permit the 2"V to marry a Jewess (but not for his
freedom per se) -

— D2 99 9N INDA 93y Taya VAN
However by an "'y without this 71177® he is permitted to marry a 1111 n3, so there is
no need for a MW 0w for an ¥"y and according to PXmw there is also no need for a MY WY

" The mwn in (2,20) PWI7T°p states that an *1v35 72¥ becomes free through receiving a (11nw) 0w,
2 mooin presumably means that the master should be 7°p5n the 2"¥ (not merely tell him ‘go’) as will be evident later
in this MO0, See pPonT 3"7IN2 R,M71 MR N12 W,
? The X3 there asks why is it necessary to write a 119w Tww for an *12y 72v; the owner could merely tell him (in
the presence of two 0°7¥), ‘go’! m»doIN asks that the same question applies to 11> 72y.
* When something (the 72v) belongs to someone (the master) you cannot merely send it away by saying, "2°1' (it still
belongs to you); however even if it belongs to you, you can be (actively) 757 it and then it is no longer yours.
> This question (that the master should be 7°pon the 72v) applies both to an ¥"y and an >"y.
% See on the 'a Ty that 21 requires a MW L by 172V PO
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by an *1y13 72¥ (since MW MWW X"X) mn XY 172V Ponn).

In summation: mooIn asks that since we see in PYY7TP Noon that the X i asks, why is a 0w
necessary, he can merely tell the 72¥, go (or be 7?51 him); why indeed is a MNY W really
necessary at all by 3"y ¥"y.

mdoIn responds: Indeed there is no need for a MNW W by either an ¥"v or 2"y -
— 9077199 PN 292y TaYT INYT XPHDT OIVN NIN MNP NI (0w nt oy PYITPA "onnt

For there in w7 noon the X asked (that the 17X should say 9°1) only

because we initially thought that the n12 of the 72y 72 is not 1P to the master -
— 0V Y 1Y 7999 297

And therefore the X7 asked why a 2vw is necessary -
— 519 A 99 IR TREYY NN 290 1IN 12 NN 29D NI TOWA MY LY PYY IMNT

For the exact same language that the master writes in the 2vw, for instance,
‘you are a freeman’ or ‘you belong to yourself’, the master could tell the ¥"v

orally -
— 790 X932 195NN PYY IN 1937 PYY XYDY 8 NIX 297 5371 KDY 919D 19131 53W)

And the X3 answered that since %119 123 to the master, therefore saying nR 5971
7»xy> which is an expression of 117 or an expression of 779°n% is not effective
without it being written in a VW -

TH0Y N2 999N INIYY 2371 1YY MY PYONRY 9791 HAR DY 798 MINYY IMIND
And only for these expressions a "uw is necessary; however regarding “ps:
where the owner removes his possessiveness from the 71v,'? that will be effective
according to SXw without a ~uw."!

" The gist of NN answer is that indeed a master can be 757 his "1 ¥"v; however when the X3 in PwI17TP asked
the question of 2°1 »n "o82 7% XY, the XMy meant to say (not that let him be 7°pon the 72y, but rather) that
whatever is written in the 70 can be accomplished without the 2vw by merely saying the words of the qvw. [See
‘Thinking it over’ # 3.] The X3 there replied that these particular words which are written in the 70w (either nX "7
771 12 or TAxY? nX ) will not be effective if stated orally; however poi will be effective (by both 2"¥1 ¥"v) even
if said 5"y2. See ‘Thinking it over’ # 1.
¥ Initially when we thought that »1p 19 PX ¥"y, then the 72v ‘merely’ owes the master a debt, and this debt can be
forgiven by the master by merely telling him 117 32 X *977 and you owe me nothing.
? Once we realize the *1p 190 ¥"y we cannot simply be m» him anything (since the T2vw of the 72y to the master is
more than owing him a debt; the master owns him), and saying 75%¥? nX *777 which is a type of 11p is not effective
verbally (it is like a person saying to his friend I am granting you this item, which is ineffective, unless there is a 11p
Tuw3a or likewise, similarly here saying 17117 72 nX *77 is ineffective) unless there is a qvw.
' By 2poi7 the owner is not granting something to the 72y which requires a 1"3p 7wyn (such as a uw), but rather the
owner is renouncing his ownership which requires no 11p because it is like every 7poi7 which is effective orally.
"' See “Thinking it over’ # 2.
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SUMMARY
According to YXmY a master can be 7°pon his "1 ¥"v and they do not require a
MATY Y.

THINKING IT OVER

1. MpoIN maintains that one can be 191 an 71v.'* Seemingly the rules of qpa:
include that it must be P57 for everyone; however here no one can acquire him
(for he acquires himself first), why should this be a proper 1poa!"

2. According to '*mpoin why does not the 71w» mention 7pd71 as one of the ways in
which an *72v 72v and "1915 72y can be emancipated?"’

3. What is the change from the X*wp of N9 to his y1°n?'°

12 See footnote # 7.
" See "X # 184.
' See footnote # 11.
"% See "nx # 191-192.
16 Se footnote # 7.
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